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2.4 (a) (b)

 = 180° - (25° + 30°) = 125°

방법[ 1]

  = (4 kN)2 + (2 kN)2 - 2 (4 kN) (2 kN) cos125° = 29.177 (kN)2

⇒  = 5.401 kN

 

  
=


⇒  

   
= 

 

⇒ sin(25°+) = 

   
= 0.6067

⇒ 25°+ = sin-10.6067 = 37.34° ⇒  = 12.34°

∴ R = 5.40 kN ＿↗12.34°

방법[ 2]

 = 180° -  - (25° + ) = 30° - 

 

 
= 

   
=


 

 
= 

   
⇒  

   
= 

  

sin(30° -⇒ ) = 0.5 sin(25° + )

sin30° cos⇒  - cos30° sin = 0.5 (sin25° cos + cos25° sin)

(sin30° - 0.5 sin25°) cos⇒  = (cos30° + 0.5 cos25°) sin

tan⇒  =   

     
= 0.2188

⇒  = tan-1(0.2188) = 12.34°

 

  
=


⇒ 

  
=


⇒  = (4.0 kN)
 

= (4.0 kN) (1.351) = 5.402 kN

∴ R = 5.40 kN ＿↗12.34°
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2.7  = 600 N

 = 180° - 45° = 135°

(b) 2 =  2 + (900 N)2 - 2  (900 N) cos

= (600 N)2 + (900 N)2 - 2 (600 N) (900 N) cos135°

= 1,933,675 N2

⇒  = 1391 N ⇒  = 1.391 kN

(a) 

=


⇒ sin = 

sin = 

 
sin135° = 0.3051

 = sin
-1(0.3051) = 17.76°

 = 90° -  = 90° - 17.76° = 72.24° ⇒  = 72.2°

2.11  = 25°

 = 180° - 35° - 25° = 120°




= 


=


(a)


= 


⇒  = (80 N)

 
= 108.6 N

(b) 


=


⇒  = (80 N)
 

= 163.9 N
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